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QUESTION 1

A customer has a four-node SUN cluster configuration. Each node has two, dual- ported HBAs. What is the minimum
number of igroups that need to be created to map a LUN to the cluster? 

A. 1 

B. 2 

C. 4 

D. 8 

Correct Answer: A 

 

 

QUESTION 2

Which command do you use on a Brocade switch to view all defined zone configuration information? 

A. cfgActvShow 

B. show zone 

C. cfgshow 

D. switchshow 

Correct Answer: C 

 

QUESTION 3

Which three protocols can be used for communications between a host running SnapDrive for Windows and the NetApp
Storage Controllers? (Choose three.) 

A. http: 

B. https: 

C. ftp: 

D. RPC 

E. ssh 

Correct Answer: ABD 
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QUESTION 4

Click the Exhibit button. 

In the diagram shown, a portset is created on controller 1 with the command: 

controller1>portset create -f ntapportset conroller1:0b. This portset is bound to the igroup with all the intiators in it. How
many paths can the host 1 see to a LUN on controller 1? 

A. six paths 

B. four paths 

C. three paths 

D. one path 

Correct Answer: D 
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QUESTION 5

Click the Exhibit button. 

You see the following error on the storage controller\\'s console or messages file. What is the most likely cause for this
error? 

A. portal group misconfiguration 

B. iSCSI CHAP misconfiguration 

C. iSNS misconfiguration 

D. IPsec misconfiguration 

Correct Answer: B 
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